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Paper -1
U -1

*

will be evaluated.

This paper contains Sixty (60) multiple choice questions, each question carrying twe (2) marks.
Candidate is expected to answer any Fifty (50) questions.
In case more than Fifty (50) questions are attempted, only the first Fifty (50) questions

e THUEITT H 9IS (60) TfaFedT UFTE | TF WeT H = (2) HFE |

o Rl 6 HIE o T (50) T F IAIAE |

o AR TR (50) T 234 TEET o 3R 9 0w w= (50) UE & St S

Which of the following variables
cannot be expressed in quantitative
terms ?

(A) Socio-economic Status
(B) Marital Status

(C) Numerical Aptitude
(D) Professional Attitude

A doctor studies the relative
effectiveness of two drugs of dengue
fever. His research would be
classified as

(A) Descriptive Survey

(B) Experimental Research
(C) Case Study

(D) Ethnography

The term ‘phenomenology’ s
associated with the process of

(A) Qualitative Research
(B) Analysis of Variance
(C) Correlational Study

(D) Probability Sampling

The ‘Sociogram’ technique is used
to study

(A) Vocational Interest
(B) Professional Competence
(C) Human Relations

(D) Achievement Motivation
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Read the following passage carefully and answer questions from 5 to 10 :

It should be remembered that the nationalist movement in India, like all nationalist
movements, was essentially a bourgeois movement. It represented the natural historical stage
of development, and to consider it or to criticise it as a working-class movement is wrong.
Gandhi represented that movement and the Indian masses in relation to that movement to a
supreme degree, and he became the voice of Indian people to that extent. The main
contribution of Gandhi to India and the Indian masses has been through the powerful
movements which he launched through the National Congress. Through nation-wide action
he sought to mould the millions, and largely succeeded in doing so, and changing them from
a demoralised, timid and hopeless mass, bullied and crushed by every dominant interest, and
incapable of resistance, into a people with self-respect and self-reliance, resisting tyranny,

and capable of united action and sacrifice for a larger cause.

Gandhi made people think of political and economic issues and every village and every
bazaar hummed with argument and debate on the new ideas and hopes that filled the people.
That was an amazing psychological change. The time was ripe for it, of course, and
circumstances and world conditions worked for this change. But a great leader is necessary to
take advantage of circumstances and conditions. Gandhi was that leader, and he released
many of the bonds that imprisoned and disabled our minds, and none of us who experienced
it can ever forget that great feeling of release and exhilaration that came over the Indian

people.

Gandhi has played a revolutionary role in India of the greatest importance because he
knew how to make the most of the objective conditions and could reach the heart of the
masses, while groups with a more advanced ideology functioned largely in the air because
they did not fit in with those conditions and could therefore not evoke any substantial

response from the masses.

It is perfectly true that Gandhi, functioning in the nationalist plane. does not think in
terms of the conflict of classes, and tries to compose their differences. But the action he has
indulged and taught the people has inevitably raised mass consciousness tremendously and
made social issues vital. Gandhi and the Congress must be judged by the policies they pursue
and the action they indulge in. But behind this, personality counts and colours those policies
and activities. In the case of very exceptional person like Gandhi the question of personality
becomes especially important in order to understand and appraise him. To us he has
represented the spirit and honour of India, the yearning of her sorrowing millions to be rid of
their innumerable burdens, and an insult to him by the British Government or others has been

an insult to India and her people.
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Which one of the following is true of

the given passage ?

(A) The passage is a critique of
Gandhi’s role in  Indian
movement for independence.

(B) The passage hails the role of
Gandhi in India’s freedom
movement.

(C) The author is neutral on
Gandhi’s role in India’s
freedom movement.

(D) It is an account of Indian
National Congress’s support to

the working-class movement.

The change that the Gandhian
movement brought among the Indian

masses was
(A) Physical
(B)Y Cultural
(C) Technological
(D) Psychological

To consider the nationalist

movement or to criticise it as a
working-class movement was wrong

because it was a

(A) historical movement

(B) voice of the Indian people
(C) bourgeois movement

(D) movement
Gandhi

represented by

T iR} & 91 H fAiaiEa 0 8 %
WFATAE ?

(A) TR W= & 0 uRae
R | ST @ iR @6
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S Are) TfErT &
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(B) WiEhd®
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(A) Ufqeria e o |
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(D) T &r=ier o fgenr wfaffaer
e = fe |



10.

W-00

Gandhi played a revolutionary role

in India because he could

(A) preach morality
(B) reach the heart of Indians

(C) see the conflict of classes

(D) lead the Indian National
Congress
Groups with advanced ideology

functioned in the air as they did not

fit in with
(A) objective conditions of masses
(B) the Gandhian ideclogy

(C) the class consciousness of the

people

(D) the differences among masses

The author concludes the passage by
(A) criticising the Indian masses
(B) the Gandhian movement

(C) pointing out the importance of
the personality of Gandhi

(D) identifying the sorrows of

millions of Indians
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Media that exist in an interconnected
series of communication — points are
referred to as

(A) Networked media
(B) Connective media
(C) Nodal media

(D) Multimedia

The information function of mass

communication is described as
(A) diffusion (B) publicity

(C) surveillance (D) diversion

An example of asynchronous
medium is

(A) Radio (B) Television
(C)y Film (D) Newspaper

In  communication, connotative
words are

(A) explicit (B) abstract
(C) simple (D) cultural

A message beneath a message is
labelled as

(A) embedded text
(B) internal text
(C) inter-text

(D) sub-text

In analog mass communication,

stories are

(A) static

(B) dynamic
(C) interactive

(D) exploratory
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Determine the relationship between
the pair of words ALWAYS
NEVER and then select from the
following pair of words which have
a similar relationship :

(A) often : rarely

(B) frequently : occasionally
(C) constantly : frequently
(D) intermittently : casually

Find the wrong number in the

sequence :
52,51, 48,43,34,27, 16

(A) 27 (B) 34
(C) 43 (D) 48

In a certain code, PAN 1is written as
31 and PAR as 35, then PAT is
written in the same code as

(A) 30 (B) 37
) 39 D)y 41

The letters in the first set have
certain relationship. On the basis of
this relationship, make the right
choice for the second set :

AF:IK 1 LQ:?
(A) MO (B) NP
(C) OR D)y TV

If 5472 = 9, 6342 = 6, 7584 = 6,
what is 9236 ?

(A) 2
€y 4

(B) 3
D) 5

In an examination, 35% of the total
students failed in Hindi, 45% failed
in English and 20% in both. The
percentage of those who passed in
both subjects is

(A) 10
(C) 30

(B) 20
(D) 40

17.

18.

19.

20.

21.

22,

¥R TH ALWAYS : NEVER ® 954
FT gHeT = fe § W 39 ws-g H
TEA ST a8 S

(A) TFE : faRed

(B) wga  WWHER
(C) & Fgd

(D) aferm ;9 & (Fam )

et 1o sfeot e = R -
52,51, 48,43,34,27, 16

(A) 27 (B) 34
(C) 43 D) 48

T Wiekia® Tt § PAN &t 31 feran
T € 997 PAR i 35 foman sian €,
PAT &l ferar s

(A) 30 (B) 37
) 39 (D) 41

T ™ e s § uw A
T € | T WY & TR W T
FA-GAT & U T # F 3T w1
AT :

AF:IKLQ:?
(A) MO (B) NP
(C) OR D) TV

L5472 =9, 6342 =6, 7584 =62l
9236 FT & ?

(A) 2 (B) 3
) 4 D) 5

TF e § T § ¥ 35% B = A,
45% ST T4 20% AT H e TU |
T Tt # AT g ATAT 6 e &
(A) 10 (B) 20

(€) 30 (D) 40
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Two statements I and II given below
are followed by two conclusions (a)
and (b). Supposing the statements
are true, which of the following
conclusions can logically follow ?
Statements :
I.  Some flowers are red.
II. Some flowers are blue.
Conclusions :
(a) Some flowers are neither
red nor blue.
(b) Some flowers are both red
and blue.
Only (a) follows.
Only (b) follows.
Both (a) and (b) follow.
Neither (a) nor (b) follows.

(A)
(B)
(©)
D)

If the statement ‘all students are
intelligent’ is true, which of the
following statements are false ?

(i) No students are intelligent.
(ii) Some students are
intelligent.

(iii) Some students
intelligent.

(i) and (ii)
(i) and (iii)
(ii) and (iii)
(i) only

are not

(A)
(B)
(€)
(D)

A reasoning where we start with
certain particular statements and
conclude with a universal statement
is called

(A) Deductive Reasoning

(B) Inductive Reasoning

(C) Abnormal Reasoning

(D) Transcendental Reasoning

What is the smallest number of
ducks that could swim in this
formation — two ducks in front of a
duck, two ducks behind a duck and a
duck between two ducks ?

(A) 5 (By 7

Cy 4 (D) 3

10
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(A)
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(1) 4T (i)
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A (i)

(A)
(B)
(©)
(D)
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(A) 5 (B) 7
) 4 (D) 3
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Mr. A, Miss B, Mr. C and Miss D

are sitting around a table and

discussing their trades.

(i) Mr. A sits opposite to the
cook.

(ii) Miss B sits right to the barber

(iii) The washerman sits right to
the barber

(iv) Miss D sits opposite to Mr. C
What are the trades of A and B ?
(A) Tailor and barber

(B) Barber and cook

(C)y Tailor and cook

(D) Tailor and washerman

Which one of the following methods

serve to measure correlation between

two variables ?

(A) Scatter Diagram

(B) Frequency Distribution

(C) Two-way table

(D) Coefficient of
Correlation

Rank

Which one of the following is not an
Internet Service Provider (ISP) ?

(A) MTNL

(B BSNL

(C) ERNET India

(D) Infotech India Litd.

The hexadecimal number system
consists of the symbols

(A 0-7

(B 0-9,A-F
(C) 0-7,A-F
(D) None of these

The binary equivalent of (-15),, is
(2’s complement system is used)

(A) 11110001

(B) 11110000

(C) 10001111

(D) None of these

27.

28.

29.

30.

31

AT A, i B, g C @i firg D
Tk B9 F -8 oS & @it & SR
FINTTNTEE |

(i) ST AEEF AT ISE |
(i) B E FIR A€ |
(iii) Tet T2 & M FE |

(iv) A9 D g9 C FamT s e |
A 2R B & =aqg F7E ?

(A) TN ARME

(B) T &R T

(C) i & wEren

(D) =T S et

I W F AG TeEEY A F e
frAfaiad 5 9§ # 91 J8 " a1 € ?
(A) o= ame

(B) EENAT &

(C) Y- aIfetaT

(D) HIfe TEgw= &1 [0

frefafiad & & # @ feve wbw
TaTEeT (ISP) & € ?

(A) MTNL (A & o1 Ta)

(B) BSNL (5t 78 71 7e)

(C) TEie e (.aua.d.d. dfea
(D) T diear fafaes

TISST o e Tl § F ¥ fae
WA Bl € 7

(A)y 0-=-7

(B) 0-9,A-F

(C) 0-7,A-F

(D) 7S o 7

(-15),, 1 BT TEHF (27 W TF
T 1 ST R E) €
(A) 11110001
(B) 11110000
(C) 10001111
(D) g o &
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1 GB is equal to
(A) 2% pits

(B) 30
(©)
(D)

bytes
220 bits

220 bytes

The set of computer programs that
manage the hardware/software of a
computer is called

(A) Compiler system
(B) Operation system
(C) Operating system
(D) None of these

S/MIME
stands for

(A)

in Internet technology

Secure Multipurpose Internet
Mail Extension

Secure  Multimedia
Mail Extension

(B) Internet

(C) Simple Multipurpose Internet

Mail Extension

(D) Simple Multimedia Internet

Mail Extension

Which of the following is not
covered in 8 missions under the

Climate Action Plan of Government
of India ?

(A)
(B)
(€)
(D)

Solar power
Waste to energy conversion
Afforestation

Nuclear energy

The concentration of Total Dissolved

Solids (TDS) in drinking water
should not exceed

(A) 500 mg/L (B) 400 mg/L.
(C) 300 mg/L (D) 200 mg/L
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33.

3.

35.

36.

] GB T &

(A) 250 feH
(B) 23V e+
(C) 220f9eH %
(D) 2209=Eg+

TR F ST/ AFA F G
FC AT FEEL WATH F Gz FT
FEART & ?

(A) AEeR fawen

(B) e fge=H

(C) AfeT fawen

(D) T o 7T

Fatie Wil § S/MIME o7 arerd €

(A) TR ARIWTS e oA
T

(B) TR wedmifemr e &«
LCTENE ]

(C) T weRmds =& W
LCTENE ]

(D) fooe meamifsar e B
T

ART IER & FAa] FE AT F
g 8 A § frAfatad § 9 ®1
et &l € 2

(A) HRwfE

(B) eTqToree & Sl ®qaLor

(C) e

(D) TR Soll

TS § FA SAT 319 TR W FIRT
frefafaa @ sifaer 721 & e

(A) 500mg/L¥ (B) 400 mg/L ¥
(C) 300mg/L¥ (D) 200mg/L ¥
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40.

41.
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‘Chipko’ movement was first started
by
(A)
(B)
(€)
D)

Arundhati Roy
Medha Patkar

Ila Bhatt

Sunderlal Bahuguna

The constituents of photochemical
smog responsible for eye irritation
are

(A)
(B)
(€)
(D)

802 and O3
802 and NO2

HCHO and PAN
SO, and SPM

Assertion (A) : Some carbonaceous
aerosols may be carcinogenic.

Reason (R) : They may contain

polycyclic aromatic

hydrocarbons (PAHs).

Both (A) and (R) are correct

and (R) is the correct

explanation of (A).

Both (A) and (R) are correct

but (R) is not the comrect

explanation of (A).

(A) is correct, but (R) is false.

(A) is false, but (R) 1s correct.

(A)

(B)

(©)
D)

Volcanic eruptions affect
(A)
(B)
(€

atmosphere and hydrosphere
hydrosphere and biosphere

lithosphere, biosphere
atmosphere

and

(D) lithosphere,

atmosphere

hydrosphere and

India’s first Defence University is in
the State of

(A)
(B)
(©)
D)

Haryana
Andhra Pradesh
Uttar Pradesh
Punjab
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o7

(A) STHIA U9 510
(B) T I 51T
(C) TETHZEW

(D) =TT T 8

g T ST & o STRE] Tehre 19
(ISR HFeT) I JH-Flel F TTFH &
(A) SO,Td 0,

(B) SO,TINO,

(C) HCHOUwd PAN

(D) SO,TdSPM

FIT(A) : FZ  FEHFE IR
FUEE  (FE=E) &
TFAE |

EoC B Er A e
ETESIET & HFd € |

(A) T9T (R) 31 Wel & T (R),
(A) T & AT E |

(A) T91 (R) 3HT T &, T (R).
(A) =l T2l == TR € |

(A) TEl &, W (R) T & |

(A) AT €, W (R) W&l & |

SATATE! I T X &

(A) FAVEH Td STAHTSE

(B) <ToTHUSS Ue JaHUSe &

(C) TIAYUSH, SEHUSH Ud AT
F

TIATIEH, TAATSH TS AAUSA

Edl

O 1 Y8 Teel Uideal favata=merg
R HE?

(A) e

(B) TR

(C) TR

(D) HoT=

FROT(R)

(A)

(B)

(&)
(D)

(D)
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Most of the Universities in India

(A) conduct teaching and research
only

(B) affiliate colleges and conduct
examinations

(C) conduct teaching/research and
examinations

(D) promote research only

Which one of the following is not a
Constitutional Body ?

(A) Election Commission
(B) Finance Commission
(C)y Union Public
Commission
Planning Commission

Service
(D)

Which one of the
statements 1s not correct ?
(A) Indian Parliament is supreme.
(B) The Supreme Court of India
has the power of judicial
review.

There is a division of powers
between the Centre and the
States.

There is a Council of Ministers
to aid and advise the President.

following

(©)

(D)

Which one of the following
statements reflects the republic
character of Indian democracy ?

(A) Written Constitution

(B) No State religion

(C) Devolution of power to local
Government institutions
Elected President and directly
or indirectly elected Parliament

D)

Who among the following appointed
by the Govemnor can be removed by
only the President of India ?

(A) Chief Minister of a State

(B) A member of the State Public
Service Commission
Advocate-General
Vice-Chancellor of a State
University

(€)
D)
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0 ¥ taerad favatasmed

(A) et TSTeTor o7 Ieehd T © |

(B) TEal & WEg i € a97
AT FAE |

(C) ToTeqor/any o € T TR F
e

(D) Haet 3N o TedeT 39 & |

1 & o &7 o a9t den @i g ?

(A) Tram= emaT

(B) o e

(C) 9 Ak Far

(D) T AT

fEAfdsA M IF A g & e ?

(A) 9 ¥ 08 AL E |

(B) YA &F Wa=d M@ Fi g
e o AR E |

(C) o 997 T | WfereTar o deamy
e

(D) T=Hia B TelE < % few Hy
TER € |

T 9 W T W R AR A F

T W& &l AT 8 ?

(A) TafEa g |

(B) 9 1 1T 99 T |

(C) wFE e w0 wfeaar @@
T |

(D) =afTa Tgafe 99 | 3 ey T
T e 98 |

THMA 50 Fge e # O T

el el T 22l S Wbl & 2

(A) T o q=wa

(B) TSTIE Tk WA ST 1 W=

(C) USAR A

(D) = Feredia=metd & Ferdia



47.

The

Not For Visually Handicapped
Candidates

If two small circles represent the
class of the ‘men” and the class of
the ‘plants” and the big circle
represents ‘mortality’, which one of
the following figures represent the
proposition ‘All men are mortal.” ?

(A) oOo (B)
©) @ (D) @

following table presents the

production of electronic items (TVs and
LCDs) in a factory during the period from
2006 to 2010. Study the table carefully and
answer the questions from 48 to 52 :

Year

2006|2007 | 2008 | 2009 | 2010

fte ferspatinr eraférat & forg =t

47. A% I B FT FAW [T T AU

SRl A H URIA P qAT T A
I T (T T W *, A Fre
" ®F W o7 9 e wwr €
ol TEY AT € ?

w o( Do ®
© (0)o  ® (0

frefafad afcerr ¥ o awqd
T AT UE Gl FRT LA 99T
TA. G, & SR & a9 2006 ¥ 2010
TqF T T T [T 77 & | AT

TVs

60009000 13000| 11000 8000

[.CDs

7000|9400 9000 | 10000| 12000

48.

49.

50.

51.

52.

W-00

In which year, the total production of
electronic items is maximum 7

(A) 2006 (B) 2007
(C) 2008 (D) 2010

What is the difference between

averages of production of LCDs and
TVs from 2006 to 2008 ?

(A) 3000 (B) 2867
(C) 3015 (D) 2400

What is the year in which production
of TVs is half the production of
LCDs in the year 2010 ?

(A) 2007 (By 2006
(C)y 2009 (D) 2008

What is the ratio of production of
L.CDs in the years 2008 and 2010 ?

(A) 4:3 (B) 3:4
€y 1:3 Dy 2:3

What is the ratio of production of
TVs in the years 2006 and 2007 7
(A 6:7 (B) 7:6

(C) 2:3 (Dy 3:2

AT AU TN ITT A48 52 IF &
EREEE
g 2006 | 2007 | 2008 | 2009 | 2010
2rar. | 6000 | 9000 | 13000 | 11000 | 8000
WIS | 7000 | 9400 | 9000 | 10000 | 12000
48. &9 99 H gl agel # ST
Ty #AtaE @ ?
(A) 2006 (B) 2007
(C) 2008 (D) 2010
49, I8 2006 ¥ 2008 TF . Tq9qT
TA. 3. & SR & TEHMT & 27T
FE?
(A) 3000 (B) 2867
(C) 3015 (D) 2400
50. @E FF @ a9 © AuE AT @
IART 2010 ¥ IR TAEE &
ST ol 2T g7 7
(A) 2007 (B) 2006
(C) 2009 (D) 2008
51. 2008 wd 2010 H UA.G 2. IART H
T FAE ?
(A) 4:3 (B) 3:4
() 1:3 D) 2:3
52. 2006 W& 2007 T IeAlfds 3R H
ST FRTE ?
(A) 6:7 (B) 7:6
(C) 2:3 D) 3:2

P.T.O.




FOR VISUALLY HANDICAPPED CANDIDATES ONLY
Read the following passage carefully and answer the questions from 47 to 52.
[This is from the address delivered by Swami Vivekananda at the World’s Parliament of
Religions, Chicago (on 11™ September 1893)].

My thanks to some of the speakers on this platform who, referring to the delegates from
the orient, have told you that these men from far-off nations may well claim the honour of
bearing to different lands the idea of toleration.

I am proud to belong to a religion which has taught the world both tolerance and
universal acceptance. We believe not only in universal toleration, but we accept all religions
as true. I am proud to belong to a nation which has sheltered the persecuted and the refugees
of all religions and all nations of the earth. I am proud to tell you that we have gathered in our
bosom the purest remmant of the Israelites who came to Southern India and took refuge with
us in the very year in which their holy temple was shattered to pieces by Roman tyranny. |
am proud to belong to the religion which has sheltered and is still fostering the remnant of the
grand Zoroastrian nation. I will quote to you, brethern, a few lines from a hymn which 1
remember to have repeated from my earliest boyhood, which is every day repeated by
millions of human beings : “As the different streams having their sources in different places
all mingle their water in the sea, so, O Lord, the different paths which men take through
different tendencies, various though they appear, crooked or straight, all lead to thee™.

The present convention, which is one of the most august assemblies ever held, is in
itself a vindication, a declaration to the world of the wonderful doctrine preached in the Gita :
“Whosoever comes to me, through whatsoever form, I reach him; all men are struggling
through paths which in the end lead to Me.” Sectarianism, bigotry, and its terrible descendant,
fanaticism, have long possessed this beautiful carth. They have filled the earth with violence,
drenched it often and often with human blood, destroyed civilisation and sent whole nations
to despair. Had it not been for these horrible demons, human society would be far more
advanced than it is now. But their time is come: and I fervently hope that the bell that tolled
this morning in honour of this convention may be the death-knell of all fanaticism. of all
persecutions with the sword or with the pen, and of all uncharitable feelings between persons
wending their way to the same goal.

47. Swami Vivekananda said his religion accepted all religions as

(A) from far-off nations (B) of different classes
(C) true (D) of several sects
48. The purest remnant of the Israelites took refuge in
(A) Rome (B) the United States
(C) Southern India (D) Zoroastrian nation
49. The different paths of men, though various in appearance, crooked or straight, lead to
(A) universal toleration (B) the Lord
(C) sheltering the persecuted (D) universal acceptance
50. Swami Vivekananda quoted a declaration to the world from
(A) the Bible (B) the Gita
(C) the welcome speech (D) the Hindu doctrine

51. The human society would have been more advanced had it not been for
(A) delegates from the Orient
(B) those horrible demons
(C) the universal toleration
(D) the Roman tyranny

52. The passage concludes with a hope that the convention would sound the end of
(A) different ideas (B) toleration of others
(C) all persecutions (D) charitable feelings

W-00 16
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48.
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Fae gfee faspari st & for

Tt e e TR AT ufeu SR A R T ur (47 ¥ 52) 6 IR0
[T ‘aﬁ’qw%mﬁtmﬁaﬁaw,wwnw, 1893) # ! faaees 310 5 ™
IO E 1]

T HE T FD TR B A 4R, TR (e e (@) @ nfatifit i o) de
Ll M) AT el & 1o T TN | I8 T Al oA 19 ST § 20 € WALl o (o=
T ST <67 STaT L W & |

T3 U9 o 9 B T & g fava w0 geeliear 99 et e 3 6 TS
foErT & | 20 7 et EEE FeAedr § bearg #3d € T o7 O 98 &l 90 7
TFR A & | 2 U8 T F & 1 79 & oo qelt ot @ Seiifedr o Sontaat s S g
& T ] ST AT | W v gg a4 ° e 2 o a3 seruefr, S s s #
F S T AN T5T9 8 AR Tra A< TH AT g1 A L 147 747 91, T 6 2059
ToTa, & AT Ui STaesl 1 T &0 259 § Hofl (o1 & | {3 39 99 ¥ 84 W ¢ e
T I UL F STAUET i 2N KA & oqedt oft 3% wifvd e @ 2 | e, § et v e
T T3 Ut G & T8 o1 TR STeieRrel H SIeE AT o, S S Sl A 5
T ME St & ¢ fg vepr Fae=T gt f51ek i o= Tt 6 & o1 STor og | Herd! g,
T e, & 0y, faT vl @ i S e T e €, e fafery, S A wir o € v
[elt H T TEA & 17

T TG, ST 219 TF ARNAT 927 T § § U &, T § To &, Tiar 3 3w 2
T TR A I T I STHINON & : i ig o T oy =7 # 7L 079 A7 &, § 3 0 €
T T T 7T F AR S R R E N o H A T & A & 7 WIRIRIE, FE, #R
ST AT SO SR =T ol TR o T GraX U T el ol © | Sei gl o e oY
e &, 39 IR-GR A W F AT € e T R & S TRt el e 9 e
TR ¢ | IS T8 WAE TS T & @ WA A S o € 399 Tl SAT I Bl | T
TR WA 27 T € ;SR H SUTE o AT AT T § o6 S Hel S YAE 3 YR o T H
TN o g THET FHFATET G 5 2, TATR AT FAT F WY T IS Al G, SR F
& R Bl 2 g T& A o = W SRR HasTel o geg i 5 e |

T foaeR 3 el T SHE 90 | 98] &t (g 7 T S T €

(A) STHT H A (B) e ad

(C) T (D) & & vt %7 o
T & Gageh UierT STEeST -+ Shal I o ?

(A) TH (B) TELE WEH

(C) el e (D) T g (G )
T o F=T T, okt H Tt o8 O g 8, limm e o

(A) TEE FETeierr (B) W% T

(C) Scdifsal = amsa (D) HratF Wi

T feeRrR  forea =t g @ § ]y & 7

(A) = (B) et

(C) A= 9o D) "EIAa

TTET WA SIS ST &Il A FrreIfige Tel e

(A) U= (2TER) Ui 9 uiatte (B) ¥aHE &g

(C) HrERE gl (D) e TTeTE

TR T ST o W WA 24T ¢ [ T THITGINEE o 2T ol S[HTOR 4
(A) T o (B) &1 % iq WeTelierdn
(C) H =T (D) TOTRRT HeRATT
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Some students in a class exhibit
great curiosity for learning. It may
be because such children

(A)
(B)
(€)
(D)

Are gifted
Come from rich families
Show artificial behaviour

Create indiscipline in the class

The most important quality of a
good teacher is

(A) Sound knowledge of subject

matter
(B) Good communication skills
()

D)

Concern for students’ welfare

Effective leadership qualities

Which one of the following is
appropriate in respect of teacher-
student relationship ?

(A)
(B)
(©)
D)

Very informal and intimate
Limited to classroom only
Cordial and respectful

Indifferent

The of
students can be improved if parents

academic  performance

are encouraged to

(A) supervise the work of their

wards
(B)
(€)
(D)

arrange for extra tuition
remain unconcerned about it

interact with teachers

frequently
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(C) WA o ST
(D) SEH

BT H IAfeTE Tt # guR o S
HehaT € A% F79 Al-=T H AT fEar
=10]

(A) TT Fetehl & FE & Frieor &

ferw
F(ATET 2 I ZTw= FL |
THF AN H AT T H |

AT ATF F 9 2T &t |

(B)
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In a lively classroom situation, there
is likely to be

(A) occasional roars of laughter

(B) complete silence

(C) frequent teacher-student
dialogue

(D) loud discussion among
students

If a parent approaches the teacher to
do some favour to his/her ward in

the examination, the teacher should

(A) try to help him

(B) ask him not to talk in those

terms

(C) refuse politely and firmly

(D) ask him rudely to go away

Which of the following phrases is
not relevant to describe the meaning
of research as a process ?

(A)
(B)
(©)
D)

Systematic Activity
Objective Observation
Trial and Error

Problem Solving

Which of the following is not
an example of a continuous
variable ?

(A)
(B)
(€)
D)

Family size
Intelligence
Height

Attitude
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